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12x10-3111098
C-130 NACR SAFS

J(NO2) (s
-1)

03/19/2006

R2 = 0.99
slope=0.85 ± 0.01
y-intercept=(15.8 ± 0.51) ¤ 10-4
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12x10-311109876

C-130 NACR SAFS

J[NO2->NO+O(3P)] (s-1)
03/19/2006

R2 = 0.99
slope=0.91 ± 0.00
y-intercept=(3.75 ± 0.35) ¤ 10-4
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18x10-3161412108
C-130 NACR SAFS

J(NO2) (s
-1)

04/17/2006

R2 = 0.99
slope=0.95 ± 0.01
y-intercept=(4.73 ± 0.82) ¤ 10-4
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C-130 NACR SAFS

J[NO2->NO+O(3P)] (s-1)
04/17/2006

R2 = 0.99
slope=1.01 ± 0.00
y-intercept=(8.15 ± 0.47) ¤ 10-4
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14x10-3121086
C-130 NACR SAFS

J(NO2) (s
-1)

05/15/2006

R2 = 0.82
slope=0.88 ± 0.02
y-intercept=(13 ± 2) ¤ 10-4
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14x10-3121086
C-130 NACR SAFS

J[NO2->NO+O(3P)] (s-1)
05/15/2006

R2 = 0.88
slope=0.95 ± 0.02
y-intercept=(2.41 ± 1.76) ¤ 10-4
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20x10-3151050
C-130 NACR SAFS

J(NO2) (s
-1)

 03/19/2006
 04/17/2006
 05/15/2006

R2 = 0.98
slope=0.92 ± 0.00
y-intercept=(9.14 ± 0.53) ¤ 10-4
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20x10-3151050

C-130 NACR SAFS

J[NO2->NO+O(3P)] (s-1)
 03/19/2006
 04/17/2006
 05/15/2006

R2 = 0.98
slope=0.93 ± 0.00
y-intercept=(3.54 ± 0.50) ¤ 10-4
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30x10-32520151050
DC-8 NACR SAFS

J(NO2) (s
-1)

All DC-8 Flights

R2 = 0.99
slope=0.96 ± 0.00
y-intercept=(3.12 ± 0.13) ¤ 10-4
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